Chapter 6 A
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21.
a.  Calculate the normal time:

NT 
= Time worked/Number of units produced x Performance rating

 
= 100/20 x 0.80


= 4 minutes


b.  Calculate the standard time:

ST
= NT (1 + allowances)


= 4 (1 + 0.12)


= 4.48 minutes

            Using the other formula for standard time

ST
= NT/ (1 - allowances)


= 4 / (1 - 0.12)


= 4.55 minutes

22. 
a.  Calculate the total earnings for the day under a 50-50 sharing plan.

                 Extra units produced = 64 - [(8 x 60) / 10] = 64 - 48 = 16 units

                 Incentive earning
= 16/48 x Share of the basic wage rate

                 Total earning = Base wage + Incentive wage




= $9.00(8) + 16/48 (0.50) ($9.00)8




= 72 + 12 = $84


b.  Calculate the total earnings for the day if the operator is paid under a 100
                   percent premium system.

                   Total earnings = Base wage + Incentive wage



= $9.00(8) + 16/48 (1.00)($9.00)8



= $72 + $24 = $96

23.
NT = 10.88 seconds; ST = 12.51 or 12.8 seconds depending on the formula
            used.

24.
NT = 1.73 minutes; ST = 1.94 or 1.96 minutes depending on the formula used.

